I = Fitting Series

. Main Block
g
£ 4[&]33' Bulkhead Reducer b 2P V2
Bt = [
RoHS compliant \ Lr‘:'::.L'TI
ol EI TG
L _;I;l
— ==
w i 1 <

H1 w Unit : mm

Model code

MKR0804[]| 4 M12 X1 26 13.4 | 149 14 14 5.6 19
MKR0806[]| 6 Mg X1 M14x1 85 28.1 8 149 | 17 4 17 17 | 115 29
MKR1206[ 1| 6 M14X1 28.1 12 | 109 | 17 4 17 17 | 132 | 28
MKR1208[ 1| 8 [Mi2X1 Mi6x1| 85 | 28.9 10 134 | 182 19 19 | 274 | 34
MKR1210[] | 10 M20 X 1 323 16.4 | 20.7 5 22 24 | 348 | 60 |TFMB-003
MKR1408[1| 8 M16X 1 289 | 12 | 114 | 182 4 19 19 | 277 | 33
MKR1410[]| 10 |Mi4X1|M20x1| 85 | 323 | 10 | 16.4 | 20.7 5 o4 24 | 417 | 64
MKR1412[]| 12 M22 X 1 349 | 12 | 174 | 233 6 27 | 647 | 78
MKR1812[ 1| 12 [M18X1|M22x1| 85 | 349 | 12 | 174 | 233 6 27 27 | 66.7 | 83

% .[]in Model code / Replaced with “W" for Light-gray color.

319

1’ Socket H M

| T e
® Tl e
A I

| I E
Re ! Unit : mm

Model code . CAD

file name
MST0801 Rc1/8 M8 X 1 8 9 20 12 12
MST1202 Rc1/4 M12 X 1 11 9 24 17 29
MST1403 Rc3/8 M14 X 1 12 10 27 22 57 TFMB-004
MST1804 Rc1/2 M18 X 1 15 10 28 27 84

‘m) Bush C Rc

Unit : mm

Model code . CAD
file name
mmm  MBCO8M5 | M5X0.8 M8 X1 7 5 11 10 3.8
Jr  MBC12M6 | MEX1 | M12X 1 75 6 115 14 9.6
MBC1401 Rc1/8 M14 X 1 8 8 12 17 12 TFMB-009
MBC1802 Rc1/4 | M18 X1 8 11 13 19 17

CAD data is available at PISCO website.



